License Plate Holder
P/N: 11503.80

Installation Instructions

Note: No drilling required for installation. Omix-Ada in in no way responsible
for damage to the vehicle or personal injury that may occur during
installation of this product. Carefully read instructions before attempting
to install product.

Parts List:
(1) License Plate Holder
(4) 1/4" -20 x 1/2" Hex Head Bolts
(1) 1/4" -20 x 1 1/2" Hex Head Bolt
(5) 1/4" Nuts
(5) 1/4" Flat Washers

Installation Instructions

Step (1) Locate (4) 1/4" x 1/2" bolts, (4) 1/4"
flat washers, and (4) 1/4" nuts.
Attach license plate to license plate
holder by using the hardware listed

Step (2) Press license plate holder over the
the front tube bumper as shown.Center license plate holder and
secure it in place with (1) 1/4" x 1 1/2", (1) 1/4" flat washer, and
(1) /4" nut.

Pg.1





